
 

01. fPOs;s ml;ltiziag; G+uzg;gLj;Jf.  

 ml;rufzpjf; Nfhit njupahj fzpaj;jpw;F 

gpujpapLk; ngWkhdk; 

gpujpaPL nra;j 

gpd; ngwg;gLk; 

Nfhit 

Nfhitapd; 

ngWkhdk; 

 5 + x 4 5 + x = 5 + 4 9 

I y + 10 8   

II. P + 100 5   

III. 40 – a 20   

IV b – 50 75   

V. 25 – c 12   

  

02. I. md;tuplKs;s gzk; a &ghthFk;. mtdJ jha; 15 &gha; nfhLj;j gpd; jw;NghJ 

 mtdplKs;s gzk; 40 &gha; vdpd; mtdplkpUe;j gzk; vt;tsT? 

  …………………………………………………………………………………………… 

 II. x = 8 vdf; nfhz;L gpd;tUk; Nfhitfspd; ngWkhdq;fisf; fhz;f.  

 (a) x + 10     (b) 20 + x  (c) 15 – x   (d) 2x – 4 

 = …………….  = ……………………  =…………..  =……………. 

 = …………….  = ……………………  =…………..  =……………. 

03. xU FLk;gj;jpy; je;ijapd; ehshe;jr; rk;gsk; 1250 &ghthFk;. jhapd; rk;gsk; x &ghthapd; 

,UtupdJk; rk;gsk; 1250 + x MFk;. ,q;F Fwpg;gpl;l 5 ehl;fspy; jha; rk;gsk; &gha; 800> 

750> 600> 900> 1000 vdpd; mtu;fspUtupdJk; Fwpj;j Ie;J ehs; rk;gsj;ijAk; jdpj;jdpNa 

fhz;f.  

 I. Kjy; ehs; rk;gsk;:-  = 1250 + x = 1250 + 800 =  …………………….. 

 II. ,uz;lhk; ehs; rk;gsk; = ……………………….. = …………………….. 

 III. %d;whk; ehs; rk;gsk; = ……………………….. = …………………….. 

 IV. ehd;fhk; ehs; rk;gsk; = ……………………….. = …………………….. 

 V. Ie;jhk; ehs; rk;gsk; = ……………………….. = …………………….. 

 nkhj;jr; rk;gsk;    ……………………….. = …………………….. 


